Fiscal Note for Changes in Management Pay Plan
Costs

Assume:

Total number of managers is 710
Average salary 1s $71,763.90
Number of promotions in a year is 55

Of the 710 mgmt positons 365 or 51% are in the management category (5% increase)
Of the 710 mgmt positions 44 or 6% are in the leadership category (7% increase)

Assume 51% of the promotions are into the management cateogry (28 at 5%)

The current rule states a management employee should receive at least a 3% increase.
Sometimes this requires going to another step and may result in an increase of close to
6%. Assume that of the 28 promotions 25% receive a 3% increase, 25% receive a 4%
increase, 25% receive a 5% increase and 25% receive a 6% increase.

5% increase  $3,588.20 5% increase  $3,588.20 5% increase  $3,588.20
instead of 3% $2.15292 instead of 4% $2,870.56 instead of 6% $4,305.83

§1,435.28 S 717.64 $ (717.63)
X7 x7 x7
$16,046.96 $5.023.48 ($5.023.41)

Assume no difference for the 7 positions that receive a 5% increase.
The total difference in cost for promotions into the management category is $10,047.03
($10,046.96 + $5,023.48 - $5,023.41)

Assume 6% of the promotions are into the leadership category (3 at 7%)

7% increase  $5,023.47 7% increase  $5,023.47 7% increase  $5,023.47

instead of 3% $2,152.92 instead of 4% $2.870.56 instead of 5% $3,588.20
$2,870.55 $2,152.91 $1,435.27

Assume one is promoted at each level of 3%, 4%, and 5%.

The total difference in cost for promotions into leadership is $6,458.73

{$2,870.55 +$2,152.91 + $1,435.27)

Total cost for promotions is $16,505.76 ($10,047.03 + $6,458.73)

Total cost for Exceptional Performance Awards is $94,414 (See attached chart)

Total cost for Professional Development Awards is $49,700
(10% x 710 =71, 71 x $700 = $49,700)



Savings

For the remaining promotions (55 — (28 +3) = 24) there would be a savings since many
promotions are above 3% under the pay step system and the proposed 3% increase would
be exactly 3% under the open range pay system. Assume 25% of the promotions are at
cach level as shown below.

3%
4%
3%
6%

Sy N O O

There would be no difference for the six 3% promotions and the others would be as
follows:

4% mcrease  $2,870.56 5% increase $3,588.20 6% increase  $4,305.83
instead of 3% $2,152.92 instead of 3% $2.152.92 instead of 3% $2,152.92

S 717.64 $1,435.28 8$2.152.91
x6 X0 X6
$4,305.84 $8,011.68 $12,917.46

Total Savings from Promotions 1s $25.834.98 ($4.305.84 + $8,611.68 + $12,917.46)

Assume 4% of managers will not receive a fully satisfactory rating nor the 3.1% increase
if eligible.

Assume 40% of the managers are already at the maximum (4 x 710 = 284)

710 — 284 = 426 (# of managers cligible for an increase)

Total Savings from Withholding Some Annual Increases = $37.819.56
(4% x 426 = 17.04 and $71,763.90 (average salary) x 3.1% = $2,224.68)
17x82,224.68 = §37,819.56

September 17, 2007
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